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5.)0) sin (§°) & Sm(0°)=0 = 97 (5= 0,09

b) cos (280°) 2 tos(270°)=0 = cos(780°) = 0,7%
igiCagla 50001 A2 (#0°)= 0,98
d) cos (1720°) cos (1609= 1 = o172 = 7034

3‘9«)0‘: §10° = 2:360°+ 90° = o =g0°
5 (90°) = 1= 5/n (90°+360°) = /7 (90°-360°)
' /= 5{;4 (‘150") = S/h (_2?00)

i

b) L= -270 = -1-360°190° = L'=50°
Srn (90%)<1 < s (90%+ 3-360°) = 51w (90° §-360°)
—11%0° = 7$30°
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()d= 540°< 4-360°+480° = L' = 180°

$in (180°) = 0 = S/n (480°+ 150°) = $/n (1807 360))
¢ _— N——————

d) &= -810°=-12:340°-90° => o' =-90°
sin (-90°) = -4 = Siv (270°) = Sin(-360°-90°)
=-450°




